
Worksheet  

How Many Times 

 

Q.1. Multiplications 

(i) 4  x  5  =  _____ 

Ans. 20 

(ii) 3  x  7  =  _____ 

Ans. 21 

(iii) 2  x  6  =  _____ 

Ans. 12 

(iv) 5  x  2  =  _____ 

Ans. 10 

(v) 7  x  5  =  _____ 

Ans. 35 

(vi) 3  x  10  =  _____ 

Ans. 30 

(vii) 2  x  4  =  _____ 

Ans. 8 

(viii) 5  x  3  =  _____ 

Ans. 15 

(ix) 8  x  5  =  _____ 

Ans. 40 

(x) 7  x  4  =  _____ 

Ans. 28 

(xi) 4  x  4  =  _____ 

Ans. 16 



(xii) 6  x  7  =  _____ 

Ans. 42 

(xiii) 5  x  6  =  _____ 

Ans. 30 

(xiv) 7  x  7  =  _____ 

Ans. 49 

(xv) 6  x  3  =  _____ 

Ans. 18 

(xvi) 8  x  3  =  _____ 

Ans. 24 

(xvii) 4  x  3  =  _____ 

Ans. 12 

(xviii) 2  x  9  =  _____ 

Ans. 18 

(xix) 10  x  5  =  _____ 

Ans. 50 

(xx) 7  x  8  =  _____ 

Ans. 56 

Q.2. 

(i) Solve: 413 x 6 

(a) 2478 

(b) 6687 

(c) 8674 

(d) 8958 

Ans. (a) 2478 

(ii) Solve: 686 x 1 



(a) 686 

(b) 868 

(c) 688 

(d) 866 

Ans. (a) 686 

(iii) Multiply: 56 x 15 = 

Ans. 840 

(iv) Find: 100 x 3 = 

Ans. 300 

(v) Solve: 22 x 4 

(a) 88 

(b) 44 

(c) 22 

(d) 11 

Ans. (a) 88 

(vi) The product of 0 with any number is 

Ans. 0 

(vii) Solve: 8904 x 7 

(a) 62328 

(b) 67560 

(c) 56439 

(d) 82326 

Ans. (a) 62328 

(viii) Solve: 5467 x 9 

(a) 49203 

(b) 8577 



(c) 45789 

(d) 7873 

Ans. (a) 49203 

(ix) Solve: 233 x 100 

Ans. 23300 

(x) Solve: 653 x 3 

(a) 1959 

(b) 1290 

(c) 2390 

(d) 9951 

Ans. (a) 1959 

(xi) Jim gets paid Rs. 5 for delivering newspapers. He delivers 9 newspapers. 

How much many does he make? 

(a) Rs. 53 

(b) Rs. 54 

(c) Rs. 45 

(d) Rs. 35 

Ans. (c) Rs. 45 

(xii) Solve: 51 x 6 

(a) 306 

(b) 650 

(c) 549 

(d) 540 

Ans. (a) 306 

(xiii) Find: 21 x 2 = 

Ans. 42 

(xiv) Solve: 55 x 8 



(a) 440 

(b) 443 

(c) 334 

(d) 897 

Ans. (a) 440 

(xv) Solve: 647 x 2 

(a) 4578 

(b) 2390 

(c) 1294 

(d) 4921 

Ans. (c) 1294 


